=5 6T = B0 =5

Addizione di decimali ( 2 cifre)

Nome;

5.71
+2.36

9.4
+3.44

6.55
+5.7

4.22
+5

4.46
+38.8

5.71
+6.65

3.87
+3.41

4.62
+4.41

6.44
+7.81

2.25
+3.32

4.23
+7.01

4.78
+/7.17

2.74
+3.36

7.81
+3.98

2.1
+4.79

www.snowmath.com

Data:

5.79
+9.25

1.35
+6.75

5.35
+4.64

7.4
+3.04

7.28
+4.63

Punteggio:

7.03
+3.77

/.32
+6.53

7.43
+3.19

3.48
+3.23

7.87
+4.9
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5= 6T = B0 =5

Addizione di decimali ( 2 cifre)

Nome;

5.71
+2.36
8,07

9.4
+3.44
12,84

6.55
+5.7
12,25

4.22
+5
9,22

4.46
+38.8
13,26

5.71
+6.65
12,36

3.87
+3.41
12,28

4.62
+4.41
9,03

6.44
+7/.81
14, 25

2.25
+3.32
5,57

www.snowmath.com

4.23
+7.01
11, 24

4.78
+7.17
11,95

2.74
+3.36
o, 1

7.81
+3.98
11,79

2.1
+4.79
6, 89

Data:

5.79
+9.25
15, 04

1.35
+6.75
3, 1

5.35
+4.64
9,99

7.4
+3.04
10, 44

7.28
+4.63
11, 91

Punteggio:

7.03
+3.77
10, 8

/.32
+6.53
13,85

7.43
+3.19
15, 62

3.48
+3.23
6, /1

7.87
+4.9
12,77
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